

$$((a-b)^r) \times ((a+b)^r) = t(r-\sqrt{r})$$

$$(a-b)^r \times (a+b)^r = t(r-\sqrt{r})$$

$$t = \frac{-r}{r-\sqrt{r}}$$

$$a^r - b^r = t(r-\sqrt{r})$$

$$\sqrt{r}-r \rightarrow \sqrt{r}-r = t(r-\sqrt{r})$$

$$-r = t(r-\sqrt{r})$$

1.2

$$\left((a + \frac{1}{a}) + (\sqrt{r})\right)^r \times \left((a + \frac{1}{a}) - (\sqrt{r})\right)^r \rightarrow \sqrt{r-\sqrt{r}} \rightarrow \sqrt{r-\sqrt{r}}^r = \sqrt{r-\sqrt{r}}$$

$$\left(a + \frac{1}{a}\right)^r - (\sqrt{r})^r$$

$$\left(r-\sqrt{r}\right)^r + \frac{1}{\left(r-\sqrt{r}\right)^r} - r = \left(r-\sqrt{r}-\frac{1}{\left(r-\sqrt{r}\right)}\right)^r \rightarrow \frac{\left(r-\sqrt{r}\right)^r - 1}{r-\sqrt{r}} = \frac{\left(r-\sqrt{r}+1\right)\left(r-\sqrt{r}-1\right)}{r-\sqrt{r}}$$

1.2

$$A = r^{\frac{r \times r}{2 \times r}} \times r^{\frac{r}{10}} \times r^{\frac{r \times r}{r \times r}} = r^{\frac{r + r + r}{10}} = r^{\frac{10}{10}} = r$$

$$\left(r \times r\right)^{-\frac{1}{r}} = r^{-\frac{1}{r}} = \left(\frac{1}{r}\right)^{\frac{1}{r}} = \sqrt[r]{\frac{1}{r}}$$

1.28

$$\sqrt[r]{a} = r \sqrt[r]{a}^{\frac{1}{r}}$$

$$\frac{a^{\frac{1}{r}}}{a^{\frac{1}{r}}} = r \sqrt[r]{a}^{\frac{1}{r}}$$

$$\frac{a^{\frac{1}{r}}}{a^{\frac{1}{r}}} = r \sqrt[r]{a}^{\frac{1}{r}}$$

$$1 = r \sqrt[r]{a}^{\frac{1}{r}} \rightarrow a^{\frac{1}{r}} = \frac{1}{r}$$

$$\frac{\frac{1}{a} - r}{1 + \sqrt{r}} = \frac{r \sqrt{r} - r}{1 + \sqrt{r}} = \frac{r(\sqrt{r}-1)}{(1+\sqrt{r})}$$

$$\frac{r(\sqrt{r}-1)^r}{r+1-r\sqrt{r}} = \frac{r}{r+1-r\sqrt{r}}$$

1.28

$$\sqrt{a+a} = r + \sqrt{a-r}$$

$$r + \sqrt{a-r} + \sqrt{a-r} - r = r \sqrt{a-r}$$

1.2

۱۰

دو عبارت داده شده، در صورت تساوی یادآور افتاد مزدوج است...

$$(\sqrt{n+a} - \sqrt{n-4}) / (\sqrt{n+a} + \sqrt{n-4}) = n+a - n - (-4) = a+4$$

r t

$$rt = a+4 \rightarrow t = \frac{a}{r} + r \rightsquigarrow t-r = \frac{a}{r} + r - r = \frac{a}{r}$$

۹

$$a^{\frac{1}{v}} = rv \times a^{\frac{15}{v}} \rightarrow a^{\frac{14}{v}} \times rv = 1 \rightarrow a = \frac{1}{rv} = \frac{1}{r\sqrt{r}} = \frac{\sqrt{r}}{r}$$

$$\frac{1}{a} = \left(\frac{r}{\sqrt{r}} - r\right) = \frac{r - r\sqrt{r}}{\sqrt{r}} = \frac{\sqrt{r}(1 - \sqrt{r})}{\sqrt{r}} \times \frac{1}{1+\sqrt{r}} = \frac{r(1-\sqrt{r})}{1+\sqrt{r}} = \frac{r(1-\sqrt{r})}{r} = 1 - \sqrt{r}$$

۱

$$A = \sqrt[10]{f^3 \times e^2} \cdot (-\frac{f}{r})^{-1} = (f^{\frac{3}{10}} \times e^{\frac{2}{10}})^{\frac{1}{r}} \times r^{\frac{1}{r}} = r^{\frac{1}{r}} = r$$

$$rA = 1 \rightsquigarrow (rA)^{-\frac{1}{r}} = \sqrt[r]{\frac{1}{1}} = \frac{1}{r} = \frac{1}{r} \quad \text{یا}$$

۲

$$\left((a + \frac{1}{a})^2 - r \right)^r = (a^2 + \frac{1}{a^2})^r = a^{\frac{r}{2}} + \frac{1}{a^{\frac{r}{2}}} + r$$

$$\frac{1}{v-4\sqrt{3}} \times \frac{v+4\sqrt{3}}{v+4\sqrt{3}} = \frac{v+4\sqrt{3}}{49-48} = v+4\sqrt{3}$$

$$a^{\frac{r}{2}} + \frac{1}{a^{\frac{r}{2}}} + r = v-4\sqrt{3} + v+4\sqrt{3} + r = 14 \rightarrow r^{\frac{t}{2}} = 14 \rightarrow \boxed{t=4}$$

۴

$$(a^2 + b^2 - 2ab)^2 = (a-b)^4$$

$$(a^2 + b^2 + 2ab)^2 = (a+b)^4 \rightarrow (a^2 - b^2)^4$$

$$(\sqrt{4-r} + \sqrt{4+r})^2 = [\sqrt{4-r} + \sqrt{4+r} - 2\sqrt{4-r}]^2 = (2\sqrt{4-r})^2$$

$$4 \times 1 \times 1\sqrt{12} = 32 - 14\sqrt{3} = 14(2-\sqrt{3}) \rightsquigarrow \boxed{t=14}$$